KRSCReq's RVReq's  Service
Met

Met Score Settlement

Tier (per Submission Plan)|

Notes
on the frequency of the service (ie. 3 for an hourly or more

2 for less than hourly but more than 4x day; 1 for

Requirements

Key Rural service "

Rural Villages must have access to public transport (bolded).

(bolded). A

but not essential italicised)

Marham/ Upper (RAF) Marham
Watlington
Brancaster with Brancaster Staithe/ Burnham Deepdale.
Burnham Market
Castle Acre
Clenchwarton
Dersingham
Docking.

Emneth
Feltwell with Hockwold-cum-Wilton
Great Massingham
Grimston/ Pott Row with Gayton
Heacham

Methwold with Northwold
Middleton
Snettisham

Stoke Ferry
Terrington st Clement
Terrington St John with St John's Highway/ Tilney St Lawrence.
Upwell/ Outwel
Walpole St Peter/ Walpole St Andrew/ Walpole Marsh

Castle Rising
Denver
East Winch
Fincham
Fltcham
Great Bircham/ Bircham Tofts
Harpley
Hilgay
Hillington
Ingoldisthorpe
Old Hunstanton

Tilney Al Saints/ [Tilney High End]

Walpole Highway
Walton Highway
Welney
Wereham
West Newton
Wiggenhall St Germans
Wiggenhal St Mary Magdalen
Wormegay
Ashwicken

Barroway Drove
Barton Bendish

Bawsey
Blackborough End
Boughton
Brookville
Burnham Norton
Burnham Overy Town
Burnham Thorpe
Congham
Crimplesham
Gayton Thorpe
Hay Green
Holme Next The Sea
Lakes End
Leziate.
Methwold Hythe
Nordeloh

North Runcton

Ringstead
Roydon
Saddlebow

Salters Lode
Shouldham Thorpe

Tilney Cum Islington
Titchwell

West Acre
West Dereham
West Rudham

‘Wiggenhall St Mary the Virgin
Wretton
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GKRSC
GRRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC
KRSC

KRSC
KRSC
KRSC

cesand but il fewor o services.
’ then of theservicesthey have,up to atotal ot 19. ey ural Service Centres shouldscore 10 o more; Rural Vilages between 6 and 9 and SmallVilages and Hornlets 5 orless.
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